T 10 Frqe 7 orgelf orq JoT-gRas % #% F P dflotiodl o JuT TE & % @ oavd T @ d dilo §Ho 3o
FUY % 7 FeT-gRaw @ w0 F7 & a d% orhers @ FdaT #We geT-gRawT 5T

Level : 2 Exam. - 2022

TGT : For Classes VI to VIII
URDU

Sub. Code No. : 805 -G FAIH T SNoTHoHARo HHiE

Question-Booklet Serial No. & O. M. R. Serial No.
i (ot ) L] ] [SET:&

Roll No. (In Figures)

AP (=t H) -

Roll No. (In Words)

A& = H A

Name of Examination Centre

aregelt A Tl 3 TR :

Name of Candidate Signature of Candidate
T g gt A de 32 | T W He 150 ik 2% hours
No. of Pages in this Question Booklet No. of Questions Time

friiss & SWRR (Signature of Invigilator) :

et & 10 fre 1 g9 ge-GRae W 89 PR 1 Ue qo SR T § N R A & e R sem af ge-gRaw 9 SR o H
P HEA T Sk B @1 T w8 FMaed e IeT-JRawl Sa9 ol 36 U9ER i o WeR e B siem 39 10 Bl &
iR, uet & IR oifed B B i Q 2% W & w Rar orom AR Rl oreelt B ae-gRem A RU M R A A A R AN A
WE & A D R sl Bl aiy & SR Sae 3 & R e Rar som o st FeiRa o & AR 59 e ¥ S
fae 9 FEid & oo AT T 3 59 SAE & 9%, 36 e § 09 afee W S8 fer @ R smem

IR Rt u & R 9 ofieh wem & R & @ ol wrem @& u S A Smem

If there is any variance between Hindi and English Version of any question then English Version would be considered correct.

SRt & fow fes INSTRUCTIONS FOR THE CANDIDATES

1. & JHIN. SR §Fh g9 qs:r—gm F IR @ %I ST 1. The OMR Answer Sheet is inside this Question Booklet.
TR HQ;T-W T & A ST TH TR HT When you are directed to read the Question Booklet, take
o7 q B FT Eﬁ?ff | gff @fwﬁqéﬂq T out the OMR Answer Sheet and fill in the particulars

carefully with black ball point pen only.

2. TOET @ Gil'c@[ 2% He ¥ T rr-‘e?r—g%frcm F 150 uys & 2. The test is of two-and-half hours duration and consists
aﬁ% TS S el 2 of 150 questions. There is no negative marking.

3. I fqaRor offthd XA U9 SR W% W MM @M & fe 3. Use Black Ball Point Pen only for writing particulars
Fad P AW GES ¥ F T B e HQ;T—W Gl on this page/darkening responses in the Answer Sheet.

ST : % The candidate should remain careful in handling the
F T TN N AT A A T question paper and in darkening the responses on the

answer sheet.

4. Y9 10 e H, 78 A e & A 6 ge- %Hich 4. Within first 10 minutes, also ensure that your Question
AN ITX G9F P TH ol 81 IR I8 1 &f ar orege Booklet Serial No. and Answer Sheet Serial No. are the
{Hﬁ _W same. In case of discrepancy, the candidate should

i e A T T A F o e 3 B immediately report the matter to the Invigilator for
ST AT replacement of both the Question Booklet and the
Answer Sheet.
5. qa@-2 (F&0 VI § VI 3 ) 5. Level-2 (For Classes VI to VIII)
-1 : 9 faee g frer aret (So 18 Jo 30) Part-I : Child Development
AM-II : AT (l;[o 31 ¥ Yo 60) and Pedagogy (Q.1t0 Q. 30)
@ﬁ . 15 999 g ST ¢ 18 H-‘FT) Part-II : Language : (Q.31to0 Q. 60)
-1 : R A (0 61 & %o 90) (Hindi: 15 Q. & English: 15Q.)
< A . 1099, RS R 1099 Part-IIl : General Studies : (Q. 61to Q.90)
HT‘:I'F::{ o TE .\“:Tﬁﬁlﬁ’ ‘10 EISFT) ’ ! (Quantitative Aptitude : 10 Q, Reasoning
pSl ’ Ability : 10 Q, G. K. & Awareness : 10 Q)
TV ¢ T (o 91 & %o 150) Part-IV: Urdu (Q.91to Q. 150)

e : T 39 PR 3 o< § Re T Ay PN A @) (Please read other remaining instructions given on the last page of this booklet.)



% %4 & T (FOR ROUGH WORK)




[3] [A]
ART-I (PART -I)
919 9% g fARNIRS (CHILD DEVELOPMENT AND PEDAGOGY)

3T : R 797 % o7 &7 & [ qag ST %y g

Direction : Answer the following questions by selecting the most appropriate option.

1. ARBROT & ‘STasehel A R 1. Who propounded the 'Need
&1 g e feam ? Hierarchy Theory' of Motivation ?
[1] BT [1] Hull
2] Bl [2] Maslow
[3] wefheas [3] Atkinson
(4] IHET [4] Thomson

2. frfofad § @ -9 Afka e 2. Which of the following is not a
% mad fafy 7&f B ° projective technique of personality

assessment ?

[1] J=-grEad [1] Word-association
[2] Ermagi%? [2] Sentence completion
[3] Ui TIfey [3] Expressive movement
[4] GTTAfT [4] Sociometry

3. Ffrefleifed & @ P9 @ 9@ 3. Which of the following is not an
ARRE 7&F B 7 extrinsic motive ?
[1] 2 & fiq e grreqet B [1] Competing in sport for trophy
2] 37 & fw A B [2] Do?ng job f.or salary
3] aTeTEaR %ﬁ ST FE [3] Is)a(t)ilsnficg(c))rcllal service for self
4] T GO W TH g arr [4] Buy one get one free

4. JERRe oTwE qoeer ek & . 4. Thematic Apperception Test is used
A &g ST | AW S to measure the ........... of students.
[1] g [1] Intelligence
[2] i [2] Aptitude
[3] ARG [3] Attitude
[4] T [4] Personality

Level-2/805 P.T.O.



[A]
5. fffag & @ SF-91 99 q9EeH
» gl d 9 78 B 7
[1] 98 STEgT I~ I 8l
[2] 76 uRRgfy @ @6 & oEw
fe & e & S8 g
afa & B
[3] T8 aaEReT & Rafodi § aiwe
URads @ @I T 3T 2

[4] G9ENH & A9E H e

3R Riar @ B’ e R
6. e & WM Tem ReEid @

ATAR e foepreTeeh Feee § ‘Geier

& e faesf e § ?

[1] Ha-usi

[2] Yd-wifharcTeh

[3] Hei-Hishareaeh

[4] u=mRe-Hihars

1. fefkefed & § @F-a1 fam @@ 78

g7
RS & AN-  STaeqst @l
oS e @t £

ey

[1] U8d S9M STUg - el ofaen
Y

[2] T S e - dreal s
REIN]

[3] @l I - Yl ST
ool T Skl

[4] STFaEE g9 - ARl STaRe
]

Level-2/805

[4]

5. Which of the following statement is
not correct with reference to
adjustment ?

[1] It creates imbalance.

[2] It motivates to change the life as
per the demand of the situation.

[3] It gives ability to bring desirable

changes in the conditions of

environment.

[4] In the absence of adjustment one

is surrounded by tension and

anxiety.

|®

According to Piaget's cognitive
development theory, the 'ability of
reversibility' develops during which
developmental stage ?

[1] Sensory motor

[2] Pre-operational

[3] Concrete-operational

[4] Formal-operational

Z. Which of the following match is not

correct ?

Erikson's Stages of Serial
Psycho-social Number of
Development Stages

[1] Initiative Vs Guilt - Stage 3

[2] Identity Vs Role - Stage 5
Confusion

[3] Autonomy Vs - Stage 1
Shame and Doubt

[4] Industry Vs - Stage 4
Inferiority



8. f=fcfag & @ #9-a1 d@ R &

HEHS Taegadl Haid 9 Geih 78

g7
[1] s
[2] e

3] @@ ey

[4] Aeie

frffea & & @9-a1 F99 SihEh

% dael § el 78 ' 7

[1] fEiT & SREROTHE-THEAES
faear o S g

[2] ARl i s § QU
THRTHS & Tl 2

[3] ofERl & Af-awg €Y 9
ST B

[4] SPERT Semq T S &t
B B

10, fF=fofaa & @ -1 F9 s B

g & sk & @8 B ?

|«©

[1] fawrE @& STEfEear & Th
SE Bl

[2] fawr@ Uh TEReE UEd SIE
T B

[3] fara s He uikan Bl

[4] T & A omm eragsea
T2t &

11. e B S P g T0ET, T

THR ©

[1] Jafre enfsses Th&T &

[2] |Ffesh sMfeseh T &

[3] STemfessh TUET A

[4] smfssep U STemisssh TIEOT A

Level-2/805

[5]

11. Cattell's

[A]

8. Which of the following elements is

not related to Skinner's operant
conditioning theory ?
[1] Extinction
[2] Discrimination
[3] Spontaneous recovery
[4] Reinforcement

[©

Which of the following statement is

not correct with reference to Attitude ?

[1] Attitude
affective characteristics.

[2] Attitude
positive to strongly negative.

[3] Attitude have a subject-object
relationship.

has motivational-

can range strongly

[4] Attitude is innate and acquired
both.

10. Which of the following statement is

correct about the development of

children ?

[1] Development is a product of
only hereditary.

[2] Development follows a random
pattern.

[3] Development is a cumulative
process.

[4] Different aspects of development
are not interrelated.

culture free test of

intelligence is a type of :

[1] Individual Verbal Test

[2] Group Verbal Test

[3] Non-Verbal Test

[4] Verbal and Non-Verbal Test

P.T.O.



[A]

12. Ffared 8 | HF-91 gorresdr @l
faQrar 7&f © ?

[1] Dferepar
[3] =g

[2] Q=i

[4] RIS

13, fafed & § P9-81 FRS -
TRt ufsar 1 gefaq 7 e ' 7
[1] frees @1 frerr B
[2] TSret 1 AHEwh el

[3] farers &1 fawg s
[4] faem &1 ariRe w9

14. g I 7 9 IR % 9Rede
g7
[1] GG
[2] ShEES
[3] GCEATH Td YhEicHs aHl

[4] 279 & Hig &

foren & Q. wh HewEqel qor § 7

[1] SfrTSTe
[2] % STfFTHRaT
[3] SAfer™ oreme

[4] T g

16. IAHd Uoesdl H  ARFHEAT @
Ydh WE SRRAT Bl JAEfeRT
e SR ol geae TR © ¢
[1] M= i
[2] aRecasi| S
KIRGEERERAIR]

[4] |aq

Level-2/805

[6]

Which of the following is not a
characteristic of creativity ?

[2] Flexibility
[4] Fluency

[1] Originality
[3] Rigidity

Which of the following factors does not
affect the teaching-learning process ?

[1] Teaching skill of teacher
[2] Mental health of teacher
[3] Subject knowledge of teacher

[4] Physical appearance of teacher

What kind of changes does growth
bring about in children ?

[1] Structural

[2] Functional

[3] Structural and functional both
[4] None of these

'Acceleration’ is an important plan
for education of which type of
special children ?

[1] Gifted

[2] Slow learner

[3] Learning disabled

[4] Mentally retarded

What type of reinforcement schedule
is to reinforce each correct response of
the learner, in operant conditioning ?
[1] Fixed interval

[2] Variable interval

[3] Fixed ratio

[4] Continuous



T ot ot o (R & W) @
faem & oM goar ¥, Fedn © ¢

[1] fabikis-Hea

[2] dfferaiseEd

[3] @i

[4] gwiEg

TH THR A qOET S O
g WX P e § F9F B
fog @ T W ANE Hew fedr
S B

[1] T e

[2] sifeRT aiEreT

[3] smfesss TETeT

[4] TSI Oerer

o & @ BM-9 afraa STiwa
e fafy 787 & ?

[1] STETEHR

[2] STa@iee

[3] STTH®A

[4] = TEad

dMa g | o, gomesa §
W TEeH § I ' sl W@
JEETT B

[1] et Ret &

[2] STt et &

[3] HAeRilb1E Readi &

[4] ORI Rr=Temeti

X A STl % WS (G &Y
fhl YN % UEEHH & AT
gerg fear ?

[1] GHash qreass

[2] fafarse qroased

[3] @it arggsh

[4] Tehighd TETHH

Level-2/805

[Z]

[A]
'Development  proceeds in the
direction of longitudinal axis (head
to foot)', called :
[1] Cephalic-Caudal
[2] Proximodistal
[3] Spiral
[4] Circular
A type of intelligence test in which
the questions are similar in difficulty
level but more importance is given to
the time element :
[1] Speed Test
[2] Power Test
[3] Verbal Test
[4] Performance Test
Which of the following is not a
subjective method of personality
assessment ?
[1] Interview
[2] Observation
[3] Autobiography
[4] Word Association
Meenal is average in intelligence,
low in creativity and high level in
adjustment. This is an example of :
[1] Inter Individual Differences
[2] Intra Individual Differences
[3] Observable Differences
[4] Expected Differences

21. Which type of curriculum did Bruner

suggest to follow for the cognitive
development of children ?

[1] Inclusive curriculum

[2] Special curriculum

[3] Spiral curriculum

[4] Integrated curriculum



[A]

2.

fope & AmITh-aepios  fEid &
fepe forpiera feam ?

EEIRRIRS]

[2] TReE

[3] rEesrt

[4] STBAsEY

23. 98 ISl F Fearl 8, PEd &}

i AU WE F Y Hl fhdl
AR & ATEY URARId HE FH 5GE
H B 7

[1] TR [2] FfRTh
[3] AFTIBROT  [4] F&der
Frefefed & § @F-a1 9o Riaae &
gfs Ee Hisa & S 787 © 7
[1] feear [2] |
KIRELREES! [4] S@R

25. gf& & P Ria & ofoues s
fepam ?
[1] TR [2] R
[3] &~ [4] T4

TR B og-TRRAH Hisd
e § 9ReR w@ e B
ey 9 % IETe 8 7

[1] Fepireed
[2] TTEshifeTeeH
[3] TR
[4] HEiREEd

Level-2/805

[8]

Who developed the Socio-cultural
theory of development ?

[1] Vygotsky
[2] Erikson
[3] Kohlberg

[4] Bronfenbrenner

What s
through which a child tries to

the mechanism called,

change his own ego to that of
someone else ?

[1] Identification [2] Rationalization
[3] Sublimation [4] Projection
Which of the following component

is not the part of Guilford structure
of Intellect model ?

[1] Operation
[3] Content

[2] Cognition
[4] Product

Who the
theory of Intelligence ?

[1] Gardner [2] Guilford
[3] Sternberg [4] Vernan

propounded Triarchic

'Family and School' are the examples
of which environmental system in
Bronfenbrenner's
Model theory ?

Bio-ecological

[1] Macro system
[2] Micro system

[3] Exosystem

[4] Chromosystem



21. Frfoied & & @-a1 g a8 78

28.

g7
fRraia fraia
s
[1] s - d@smes oM
EAG]
[2] &0 - gMices oM
GEAG]
[3] tRees - HAEESTS G
GEAG]
[4] aErlcell — Ao e Risia

Freffed & 4 S9-9 T quEi
A v 7@ B ?

[1] o aweell oo &elf & IR |
STTG

[2] ®F T qE B T B
[3] Tgfer STeBiamd
[4] g | STl

AR TR HE 517 A Qe
% g5 g fhes s @ . & ?

[1] 3R [2] B=HicS
[3] 3 [4] dffeest

frfofag masneel & & BN
TeearE § gata 78 2 ?
[1] FEwX [2] IR
[3] %R [4] T&H

[91]

21.

[A]
Which of the following pair is not
correct ?
Theory Theory
Propounder
[1] Piaget — Cognitive

Development Theory
[2] Bandura — Social
Theory

Learning

[3] Erikson — Psycho-socio
Development Theory

[4] Vygotsky — Moral Development
Theory

Which of the following is not the
characteristic of a well-adjusted person ?

[1] Awareness of his own potentials
and limitations

[2] Respecting himself and others
[3] Balanced aspirations

[4] Rigidity in behaviour

"Mental health is the full
harmonious functioning of the whole
This
mental health is given by whom ?
[2] Hadfield
[4] Waltin

and
personality." definition of

[1] Menninger
[3] Drever

30. Out of the following Psychologists,

who is not related with Gestaltism ?
[1] Kohler [2] Koffka
[3] Kretschmer [4] Wertheimer

Level-2/805



[A]

[10]

[T - II (PART - II)
A7 (< g 3fSH) [ LANGUAGES (HINDI & ENGLISH) |
f&=<t (HINDI)

3 : R 797 % o7 &7 & [ qag ST 4wy g

31.

32.

fha 1 gfte @ org fohed g

[1] A 9o forgarmr & - SRomefs
fera

[2] ST B TR el & - THHD
ER|

[3] STedTUsh SToieh @l f&dl er @ 8
- et B

[4] ol SR--/ 29 W R -
UpHE fHaT

JHERC H RS F UM FeH Al
v v

[1] %, 37HIN, F&HT
[2] %, THIY, HEHT
[3] %, TN, ST

[4] %, 3THIY, ST

33. ‘OrEEARERE 9 H Gl |i-foes § ¢

[1] Q1T + A=
[2] 919 + A=
[3] |1 + =R

[4] €Y + 3=

Level-2/805

34. T FH gfe § D-0 IH 7@ © °

[1] g - g
[2] 3T - o
[3] - iR
[4] BEER - &l
35. “¥8 SMUH W o’ dqEE H g
AR’ 9= § P-4 G5 7
[1] Siricrarereh
[2] “EaTa®
[3] Sedr=®
[4] =fearEes
36. ‘SETA I H W T -
[1] i
2] Fga
[3] eI
[4] et
31. 9@ &1 gt § oo [aohed e :
[1] 7 - g
[2] &fte - gHite
[3] anfesia - foriea
[4] SFaiEM - 9=



Tl o= & HA-6 G § 7
[1] & @ dfr

[2] o1 WX gfy

[3] T &R Gy

[4] &S €iY

39. ‘REmar #1 9% gaEEt B ¢

[1] IhaT
[2] S
[3] @Bt
[4] =81

40. 9 fTecq ¥ URYEES AT #

ST B3 B 7

[1] 5o of= feelt g & m

[2] 9 UfE B @I I

[3] 9o dredt Fem # e Bl

[4] 9@ & T HB T &F @ o

41. “‘OFe W Sse-9 X REE T W@ g,

g A 37 a9 ¥ fR wdem &
ST BT & °

[1] Jouar=h
PARGEEIEE?
[3] Me=E=®
[4] STg=E=h

[11]

42.

[A]

g o ® vgare dled ST @&

ST e & 7
[1] et
[2] ==&
[3] €
[4] T

43. ‘GO 9= § -9 q99 ® ?

[1] FHERT 99
[2] & 999
[3] STEAEE TH

(4] SIgE T T

44. 9 9= ¥ O ST B TEN 78T

g & ?

[1] STgaX
(2] STgTH
[3] STg=X
[4] ST

45. fa @ @1 w9 o= § 2

g7

[1] T sreaf |

[2] 39T o) H

[3] dewa g |

[4] Soga &+t o=t |

Level-2/805



[A]

3N (ENGLISH)

[12]

Direction : Answer the following questions by selecting the most appropriate option.

46.

Select the appropriate one word
substitution for the following :

Former students of a school or college
[1] Emblem [2] Alumni
[3] Expert [4] Incharge

41. Change the Narration :

"I'm taking the children to the
z00 tomorrow." She said.

[1] She told that she would be
taking the children to the zoo the
day after

[2] She said that she will take the
children to the zoo the next day

[3] She told that she will be taking
the children to the zoo

[4] She will take the children to the
700, she said

48. Choose the correct synonym of :

Genius
[1] Happy
[2] Cheerful
[3] Talented
[4] Comfort

49. Select the appropriate preposition for

the blank :

He has not yet recovered .......... his
illness.

[1] over [2] in

[3] at [4] from

Level-2/805

50. Choose the option that brings out the

meaning of the underline idiom :

A lion's share of India's annual
budget is for defence.

[1] major share
[2] minor amount
[3] small

[4] very little

al. Select the correct antonym of :

Gloomy
[1] Praise [2] Coarse
[3] Cheerful [4] Dismal

94. Choose the appropriate conjunction

for the blank :

I shall not go .......... I am invited.
[1] and [2] unless

[3] but [4] there

93. Change the narration to Reported

Speech. Choose the right option :

"Who has been using my
typewriter ?" Said Mother.

[1] Mother asked who has been
using her typewriter

[2] Mother said who was using her
typewriter

[3] Mother asked who had been
using her typewriter

[4] Mother asked her typewriter was
being used by who



4.

Select the correct meaning of the
underlined phrasal verb :

Who can say what will turn up next ?
[1] remember

[2] divide

[3] end

[4] happen

99. Choose the part of sentence that has

CITOr

she does not/ resemble to / either of/

A B C
her parents
D
[1] A 2] B
3] C [4] D

56. Select the correct tense form from the

options given :
When 1 first (come) to this house, it
(be) a very quiet area :

[1] comes, is
[2] came, was
[3] coming, is

[4] come, are

57. Select the correct tense form from the

options given :
Peter (try) to come in quietly but his
mother (hear) him.

[1] tried, heard
[2] trying, hears
[3] was trying, was hearing

[4] is trying, hears

[13]

58.

[A]
Change the voice from Active to
Passive and select the correct option :
Bees make honey

[1] Honey is make by bees

[2] Bees are making honey

[3] Honey are made by bees

[4] Honey is made by bees

59. Change the voice and select the

correct option :

Somebody has put out the light.

[1] The light has put out by
somebody

[2] The light has been put out by
somebody

[3] Somebody has been out to put
light

[4] The light is being put out by
somebody

50. Select the correct preposition for the

blank :
Ishalldoit......... pleasure.
[1] in
[2] with
[3] about

[4] over

Level-2/805



[A]

[14]

AR - ITI (PART - III)
9MY 379 (GENERAL STUDIES)

RS ARG, it ST T4 | ST U§ SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

3T : R 797 % o7 &7 & [ qag ST [awey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

RE yeR gt & w9 oW 9 ©
SHl T e 1 T BAT

[1] @ 9
[2] &} Q
[3] &% 4

[4] g0 &

62. T T AT & GRET HUA G Hel

“gg IR T & far @ 9 & Ui
27 v I 9 5 v gefed
g7

[1] &
[2] ST
[3] e

[4]

63. I & IR TR A BRI M ®W &

I A dF o Fem A S8
U%h 39 O 8, 39 /3G7T H BT :

[1] STUA
[2] RQPA
[3] MLKA
[4] HGFA

Level-2/805

61.

Earth is related to Axis in the same
way as wheel is related to :

[1] Tyre
[2] Car

[3] Road
[4] Hub

62. Anil introduces Prashant, "He is the

husband of the grand daughter of the
father of my father".
Prashant related to Anil ?

How is

[1] Brother

[2] Brother in law

[3] Nephew

[4] Son

Four groups of letters are given
below, three of them are alike in

certain way while one is different,
choose the odd one :

[1] STUA
[2] RQPA
[3] MLKA
[4] HGFA



64. 1 I @A H FE T A

FHITTT :

LXF, MTJ, NPN, OLR,
[1] PHV

[2] PIU

(3] PIW

[4] PKX

65. fdl Fifted He & 786 @ oY

'Study very hard', '958' &I 318 'Hard
work pays', '645' & &4 'Study and
work', T 'very' @ HiE T B ?
[1] 8 2] 6

[31 7 [4] 5

gk A, B ¥ 40 Hiex IR-uided H
&, C, B § 40 #icX 3hrrgd 7 7,
WC, A9 %g f&sm d arm ?

[1] @@

[2] uf¥=™

[3] STR-Fd
[4] sferer

150 feenfiat & o< ofea ofd 35
R T A S RERiE @
AFq w<hid 39 B qA Sl
frenfi &1 ofea w15 @, @
Ter H Sl 8N a fgenEr @l
&I S i ¢
[1] 120

[3] 135

[2] 125
[4] 140

Level-2/805

[15]

[A]

64. Find the next term in the following

letter series :

LXF, MTJ, NPN, OLR,
[1] PHV

[2] PIU

[3] PIW

[4] PKX

65. In a certain code '786' means 'Study

very hard', '958' means 'Hard work
pays', '645' means 'Study and work',
which is the code for 'very' ?

[1] 8 [2] 6
[3] 7 4] 5
If A is 40 meter South-West of B, C

18 40 meter South-East of B, then C
is in which direction of A ?

[1] East
[2] West
[3] North-East
[4] South

67. The average marks obtained by 150

candidates was 35. If the average
marks of passed candidates was 39
and that of the failed candidate was
15, find the number of candidates
who passed the examination :

[1] 120 [2] 125
[3] 135 [4] 140



[A]

8.

I a*=b,b" =c I c*=a, A
Xyz %1 A9 ¥ B 7

[1] abc [2] 1
3] 4] ab
abc

69. & BIE § B T F FE H@A

BT S 4, 5, 6, 15 o1 18 | ofd:

foremfora @ :
[1] 800 [2] 225

[3] 900

W57 x (V5] 2wt = 2w ?

[4] 361

1 1
[1] > (2] 125
1 1
[3] 25 [4] o2

71. BT o9 THHIRE A B X A 15 a9

¥ T & SR 8, O e ast § a8
Il AT & & § 8 YA B S ?

[1] 30 ¥ [2] 40 %

[3] 60 a9 [4] 45 a9

g 25 oMeH fhdl wod @ 60 A
T HIC ghd &, A 10 EH I HEd

#l fhoe &A1 @l g ?
[1] 125 &= [2] 92 f&°

[3] 100 &5 [4] 150 &=

Level-2/805
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If a*=b,b” =c and c*=a, then

what is the value of xyz ?

[1] abc [2] 1

4] ab
abc [4] a

Find the smallest perfect square
number which is exactly divisible by
4,5,6,15and 18 :

[1] 800 [2] 225

[3] 900 [4] 361

What is the value of

(\/g)_S/Zx(\/g)_S/Z )

1 1

1] — 2] —

[1] 25 (2] 125
1 1

3] — 4] —

5] 325 4] 625

71. A sum of money doubles itself in 15

years at compound interest. In how
many years it will become 8 times at

the same compound interest rate ?
[1] 30 years [2] 40 years

[3] 60 years [4] 45 years

72. If 25 men can reap a crop in 60 days,

then in how many days will 10 men

reap the crop ?
[1] 125 days [2] 92 days

[3] 100 days [4] 150 days



1 1

e x+—=5 8, @ x3+—3 & AN
X X

T B ?

[1] 125 [2] 110

[3] 115 [4] 105

=T 3% HEcll @& S YT
BT ?

2, 7,24, 77, 238, ........

[1] 721 [2] 722

[3] 723 [4] 733

\/8+2 8+28+.. W HE HM
FIfoTT

[1] 8 2] 10

[3] 11 4] 4

e B OTE P H 50% W g
Bl S, @ 30 &%d &l idud Iia
ST I
[1] 50%
[2] 100%
[3] 125%

[4] 150%

77. IR —F M X, + ;N I+, -~ I +,

XF AT -, AW 15-5-5x20+ 10
& A F97 3R 7

[1] 70
[3] 75

[2] 78
[4] 73

Level-2/805

[17]

[A]

If x+l =5, then what is the value
X

of x° +L3 ?

X
[1] 125 [2] 110
[3] 115 [4] 105

Find the next term in the following
number series :

2, 7,24, 77, 238, ........

[1] 721 [2] 722

[3] 723 [4] 733

75. Find the value of :

\/8+2 8+2v8+........

[1] 8 [2] 10
[3] 11 4] 4
If each side of the square be

increased by 50%, then find the
percentage increase in the area :

[1] 50%
[2] 100%
[3] 125%
[4] 150%

711. If X stands for —, + stands for +, + stands

for +, — stands for X, then what is
the value of 15-5+5%x20+107?

[1] 70 [2] 78
[3] 75 [4] 73



[A]

78. TRl 9] @ 72,000 W@ H SR W

~
o

frelt afdd ® 20% @ @ B B, @
S aK] Bl BT I T AT °

[1] 60,000 %o
[3] 40,000 To

[2] 50,000 %o
[4] 65,000 %o

T 2fge § -9 |© TaT S

8, 13,21, 32,47, 63, 83
[1] 13 [2] 32
[3] 47 [4] 63

T% o 89 949 U=f W a1 4
T T Bl 9 39 64 BT g H Hrer
S ®, Q8 fhaw SR 8w 2 R
P IS M g T & ?
[1] 24 [2] 16
3] 8 [4] 4

8l. 8 WM, Forgs =l IBi Ja =i

J 9997 AR Iy A B

[1] STET

[2] g7
3] Foa=
[4] QIgd

82. g forel, ST&l SIdMEe Il S 2

[1] 92T

[2] T
RIRAEHE
[4] QI9A
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By
Rs. 72,000, a person made a profit of
20%. What was the cost price of that
commodity ?

[1] Rs. 60,000
[3] Rs. 40,000

selling a commodity for

[2] Rs. 50,000
[4] Rs. 65,000

Which
following series ?

8, 13,21, 32,47, 63, 83
[1] 13 [2] 32
[3] 47 [4] 63

term is wrong in the

80. A solid cube is coloured red on all

faces. It is cut into 64 smaller cubes
of equal size. How many small cubes
have no face coloured ?

[1] 24 [2] 16

[3] 8 [4] 4

81. The place, which was visited and

mentioned by Chinese traveller Yuan
Chwang :

[1] Agroha

[2] Sugh

[3] Kurukshetra
[4] Panipat

82. The district, where Dolomite is found :

[1] Mahendragarh
[2] Gurugram

[3] Faridabad

[4] Panipat



83.

BRATOT TR Hl [BH T & ded
gREeT % §ue| ga @
gETTE-eTRie 2o dar fFar o <@
g7

[1] SfERg IRAR I JoT
[2] URER 9ea™ 9 FeT
[3] Jew= TRAX Tgis AT

[4] S SMER QS0

qigament & fow STRfe @ 18 el
i B -

i
G2l

[1] 25% [2] 33%
[3] 66% [4] 50%
85. g8 ffel, @I Teell s efamenm &
-9 AR fpar T ®
[1] Teu™ [2] He=gpa
[3] feEX [4] Ba®

e e deiee’ oeRa e ST

@R

[1] T&o WHo &Eo 3o dlo Hio,
BRATT TN &R

[2] Sflo THo Elo Wo, BRAMM TXHR
R

[3] To Fo o Uo, BTN WX
R

[4] B8 9@ H#A@E, 9Rd 9K
R
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[19]

[A]

83. Under which scheme of Haryana

the socio-economic

data of all the families of Haryana is

Government

being created ?
[1] Antyoday Parivar Utthan Yojna
[2] Parivar Pehchan Patra Yojna

[3] Mukhyamantri Parivar Samriddhi
Yojna

[4] Jan Aadhar Yojna

84. Percentage of posts which have been

reserved for women in Panchayati
Raj Institutions of Haryana :

[1] 25% [2] 33%
[3] 66% [4] 50%

85. The district, where first time in

86. 'Global

Haryana  E-challan has  been

introduced :
[2] Panchkula
[4] Rohtak

[1] Gurugram
[3] Hisar

City Project' 1is being
developed by :

[1] HSIIDC, Govt. of Haryana

[2] GMDA, Govt. of Haryana

[3] HUDA, Govt. of Haryana

[4] Ministry of Urban Development,

Govt. of India
P.T.O.
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81. dg GWI'SS, i gereror § Jeheedl %@ 81. The award, which is given to a sport

ERATCT T & O 9 & e coach for excellence in coaching by
S B the Haryana State :
[1] RATEE STars [1] Dronacharya award
2] T& i 3fars [2] Guru Vashistha award
[3] Herem ydg Sl [3] Maharana Pratap award
[4] 347{'1_'[ CCIE] [4] Arjuna award
88. &I%A &l 3fe | BRATT & WG H 88. The position of Haryana in India in
WH ® respect of area is :
[1] 11af [1] 1lth
[2] 21af [2] 21st
[3] 15a [3] 15th
[4] 184 [4] 18th
89. &% & 3 A NESKENCE] S 89. The smallest (in term of area) wild
AN ® : life sanctuary is :
[1] fUgmEra [1] Bhindawas
[2] AT [2] Nahar
[3] |t [3] Saraswati
[4] Tescfea [4] Chhilchhila
90. ERATM # U gAEH & [ B AC] 90. The de jure head of the State
g Administration in Haryana is :
[1] T59 & ﬂ'@'ﬁﬁ [1] Chief Minister of the State
[2] T SIREN] [2] Divisional Commissioner
[3] 59 % HereEer [3] Advocate General of the State
[4] T59 3 To9I [4] Governor of the State
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[21] [A]
91T - IV (PART - IV)
3¢ (URDU)
[R@sr : fratire g9 % a7 &7 % T gae afd fAwey g
¢ ‘Lﬁfgu;w"‘f/u:‘:; -94 ¢ %Ld/pw“fyg Gy 22 01
o/f;“; (2] it [2]
§& 3] <7 B3l
< 4 JF 4]
¢ Ln!“...ubj/j “;.‘ .95 ¢ K’ .92
b Qe (1]
oy [2]
Y
=2 3]
ATE 4] S Urtigg Tt .03
PR S AT Fe 1
PES TN .
JrV 2
S 2
FhoB S ol
Gfy 4 Jud 4
Level-2/805 P.T.O



[A] [22]

¢ SO et 100 EEIANSA L IO )
EES LB g
O“w [2] Ja 2]
SR 3] -

Uy [4]

¢ o 11 “GrLuebE s 101

Aoty et

[1]
$FAI Fou 1
Gaedist (3] FAT 13
S 4] 858

¢ ELnlgufEldas 102 ¢ GUBL UL PG S .99
T s 1]
Jr— Sl
A 3] P Y
Ol [4] Ul 4]

Level-2/805



¢ ‘auﬁ”&f iy LK
—i4 (1]
JIPER 2]

o= 3]

Shdile 4]

¢ e FUL el

Vi

i€ (1]

=l [2]
chley  [3]
=% [4]

o b eUR k2
<o l”J/U:;/U: Js 0
il S
Q}'Mgdl}fd/}?

T

¢ < SUBLLE

iy 1]

SERE)
PRI
e [
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.106

.107

[23]

[A]
¢ o AT U 103

MR ]
S22 )
OIS
Szl [4]
e B Gt " Flandooh” 108
¢ I e R 1 2
WIE (1]
oy (2]
U 3]

A 4]

¢ +u”jﬁwcﬁ'uilutﬁiz' .105

SuT

391% [2]

Sisls [3]

St 4]
P.T.O
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¢ e S e ST e ¢ AL e Fe Cugagin” 109
WTE ] oo 1]
F oo Syt [2]
B, 3] b7 13l

— TP 4
3w WTRTE 4]
¢ é}/@éﬁ'“p 11

i Sl 1]

¢ sk ST 110

w

/ [1]
ot 2] e (2]
f/ [3] —£&  [3]
e 4] g4 [4]

¢ Lnlwu‘J‘"! 11 JJ"GKPL “Lgds” LS S 1L

[1-3

?‘L

WE

i 2]

oA 3 :
L L [3]
S ST 4
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[1]

éK(f;bw} 2]
L6k 3]
ATz Pl (4]

¢ LI Un 2§ L7 B

sz [1]
)
3]
2 (4]
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.118

-120

[A]
WS zie s 6”118
f e
ok (1]
¢/ 2
&l
:a/j/ [4]
¢ et b e 116
JTom
Ot 2
A 13l
@iy 4]
?+MJJ Wbl 11
Fe
spbidia 2
b e (3]
e M4
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Sl 3]
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¢ GYL U
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wzsf

s Sesks:  [4]

¢ o G = S S
B Y

& [2]

b 3]

Sl [4]
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.124

.125

[26]

¢ b
VA R Y
ST 2]

Fonls 3]

VALY ST

¢ UZG%-/QMG/;C&

1808  [1]

1810 [2]

1812 [3]

1813 [4]

¢ bl A e A i
ST )

Snb sl 2]

2P 3]
S 4]



2 e _una/fégégub&.ﬁiﬁﬁ
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J (1]

S

alE)

e 4]

¢ o by AL e

(Sl L8 (1)
(ST 2]
(70l 3]
178t Sl 4]
¢ ‘QU)(J‘”K Ui
GuA 1]

T (2]

SBuls 3]

Gaeills (4]
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.130

[A]

¢ LA 21
ST
VE 2
AT 3]
do 4

¢ I 2 e (i 128
YV A )
27 2]
S 3]
s [4]

¢ LatgudVA2 129
ST
g2
AT 3]
2
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¢ 'nc"tgﬁf.}»/lg “ul“/g”

EX I
S
FAT B
wifl (4]

? ‘Lg ‘U,G-/z}f”

AL b
A5 2]
,uf KL [3]

SAEUFE (4]

¢ ‘L&-ng “c«}l?” 53

ews 1]
=3/ [2]
=¥ 3]
=i [4]

Level-2/805

.136

[28]

¢ HW&JJ}J}&
PRI

2

WG 1)

e 14

¢ Gt Pz,
1877 [1]

1880 [2]

1883 [3]

1884  [4]

¢ ‘alfd/kﬂkf Usts”
_t ]

W5 2]

otr 3]

e ]

.133



¢ féﬂJ&G)Jd)gfﬁoﬁ/j@

1921 [1]
1927 [2]
1920 [3]
1929 [4]

& n by Az i
EGY T &g 12
LT U < E 3]

gu@;’ggﬂzq/g& [4]

¢ < GV s o
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S 2]

(? L 3]

A 4]
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.143
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; ‘a;!ﬁd/._};/du}?gui&‘i};/

18 [1]

16 [2]

22 [3]

14 [4]

¢ ‘a&mlﬁ'tﬁ&ﬁb
=yl (1]
e [2]
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=</ [4]
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Fey )
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.139
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% %4 & T (FOR ROUGH WORK)




R @& @
IR TF F RN GHEF B X 3§ O SR IR T H
Sl

6. Answers

to questions in answer sheet are to be
given by darkening complete circle using Black ball
point pen as shown below :

O @ ® ©®

The answer will be treated wrong;, if it is marked, as given

below :
O ® & @

If you fill more than one circle it will be treated as a
wrong answer.

10.

11.

12.

13.

14.

15.

16.

11.
18.

19.

20.

. 9l I 3T OMR I TF T & ik H T II AFYIH

. 6 FE -G § 39 WM & [T @ T @l e W 8 # (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | IT oA o W o1 (ThE TYS) BTN
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. J% 99 & 0 RU U =R fowed § & S faecy & T OMR ST % W #ad 06 99 & & T 06 & a9 @R’e 0

¥ T TF IR IX Sifhd B B 9% 39 Sea Tel o Gl o (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

o=t gRfEa #X % 30 ST T B qYl T ¢ U6 S8 W HE AW MW T ) Tl iU STgHiE SuX T d
fraifa wm & sfafed o= 71 foreh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the
Answer Sheet.)

- T4 IR T B ANGEF T B, Fis HE A Rk § (997-gRaw SR =% F FHE § e @ Rafy
& W) {H’ﬁ g W e Iuee T WI% Wﬁl (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

E[SFT-W/ET‘R' =% ¥ RU T wEie B Tl 9l ade 9 swnR 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

afl # oen S/ § TR ol TeAN W & ofoRe Rl ser @ argg-aren, gd o st s & afr,
JoR, MeEA B, gasli-es SUBT A Rl oF UK & |l & S a1 IWM HIA @ A Tel 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

T B U8 TN W TaE ol SToAT WAy #E (A o) iR wgAM U R@MW| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

&% e AT THAEE B AT STFAN $ AT HiE TRl STUAT WM 7 Bi| (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PR JHAEE B AT IR T 2 T T sWER 9 W AR sERR R faer erwd) qlen g 8 seh Ak e
el 7 gAY 9R SWER 9 W SWRR e Y a1 ¥ A e f 3ER I T e e’ & R T HET &
A AT STCT OMR S O & Feiia @M W ol ol e o ey & oS & e e S 21 S &
MM 10 999 59 99 W M @ ] [ Qe @@ Aen § & a0 A i @Rt B AR T o 959 ot o 9 7 &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa UReheth B SYANT afotd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F R & Y, TRl feRlE & & T ubk/Ren-fRw 7 98 & o e @ e @ Ry em W@ sgRa
et & o T & e S » e wd e @ &R (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ:T-S]:FIEH IR TR =% Eﬁg AN ST I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

TUE FO BN W, TRl F /A Bled § [ S T H-THAEE B oA A A1 AR A WY 39 9e-gRAH B A

S R R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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